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Lab Experiment – 7
Comparison of the Dynamic Response of the Switching Model with the Average Model: Buck-Boost Converter in CCM
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Objective:

The objective of this experiment is to show that the average model gives an identical dynamic response as a switching model, using a Buck-Boost converter as an example.  An additional load is switched on at 0.05 s.  

Exercises:

1. Plot the waveforms for 
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 in the switching model. 

2. Plot the waveforms for 
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 in the average model.  In the Probe window, under the File menu, click on Append Waveform and select the .dat file of the switching waveforms (do not skip sections).

3. Comment on the time it takes to simulate using the average model versus the switching model.  Why does the output voltage response in the two models differ?
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